Tableaux des Puissances de Dix (H)

Divisez le nombre de la rangée par celui de la colonne.

90 9000 900 90 000

9,99

8,46

2,39

4,8

6,33

20 2000 200 20000

3,82

4,86

9,6

5,45

6,13

200 20000 20 2000

8,82

6,12

4,54

5,44

2,21

40 000 4000 400 40

1,02

2,28

7,29

9,47

6,65
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Tableaux des Puissances de Dix (H) Solutions

Divisez le nombre de la rangée par celui de la colonne.

+ 90 9000 900 90 000
9,99 0,111 0,00111 0,0111 0,000111
8,46 0,094 0,00094 0,0094 0,000094
2,39 0,02655556 | 0,00026556 | 0,00265556 | 0,00002656
4,8 0,05333333 | 0,00053333 | 0,00533333 | 0,00005333
6,33 0,07033333 | 0,00070333 | 0,00703333 | 0,00007033

+ 20 2000 200 20 000
3,82 0,191 0,00191 0,0191 0,000191
4,86 0,243 0,00243 0,0243 0,000243
9,6 0,48 0,0048 0,048 0,00048
5,45 0,2725 0,002725 0,02725 0,0002725
6,13 0,3065 0,003065 0,03065 0,0003065

+ 200 20 000 20 2000
8,82 0,0441 0,000441 0,441 0,00441
6,12 0,0306 0,000306 0,306 0,00306
4,54 0,0227 0,000227 0,227 0,00227
5,44 0,0272 0,000272 0,272 0,00272
2,21 0,01105 0,0001105 0,1105 0,001105

+ 40 000 4000 400 40
1,02 0,0000255 0,000255 0,00255 0,0255
2,28 0,000057 0,00057 0,0057 0,057
7,29 0,00018225 0,0018225 0,018225 0,18225
9,47 0,00023675 0,0023675 0,023675 0,23675
6,65 0,00016625 0,0016625 0,016625 0,16625
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